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	Describe the sequence of transformations that took place.

	

	Select ALL sequences that are possible below
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3.) Translation: (x,y)—(x—4,y—3) 4.) Translation: (x,y)— (x—2,y)
Reflection: in the x-axis Rotation: 90° about the origin
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Describe the composition of the transformations.
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Which pair of transformations moves quadrilateral 1 to quadrilateral 27
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reflect it over the line y = —3, then rotate it 90° counterclockwise about the origin
reflect it over the x-axis, then rotate it 180° about the origin

rotate it 90° counterclockwise about point (-3, ~3), then translate it 8 units to the right
translate it 8 units to the right, then reflect it over the line y = -3
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[ a180° rotation about the origin followed by a
dilation by a factor of 0.5

O a dilation by a factor of 0.5 followed by a 180° rotation about the origin
(3 a reflection across both axes followed by a dilation by a factor of 2

(3 a translation of 4 units down and 6 units to the left followed by a
dilation by a factor of 2

O a dilation by a factor of —0.5
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Power. !/ Common|Core Test Practice

10.) Determine if each system of equations has no solution, one solution, or
infinitely many solutions. Select the correct answer.

a. y=3x-1 - nosolution [ one solution [ infinitely many solutions

nosolution [/ one solution (] infinitely many solutions

no solution [] one solution [ infinitely many solutions
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The endpoints of CD are C(1,2) and D(5,4). Graph the image of CD after the glide reflection.

1.) Translation: (x,y)— (x—4,y) 2.) Translation: (x,y)— (x,y+2)
Reflection: in x-axis Reflection: in y=x
by
1
[ -
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The vertices of AABC are A(2,4), B(7,6), and C(5,2). Graph the image of AABC
after a composition of the transformations in the order they are listed.




